AR =)z SN AT R
Hu: AWM A SaE o
Chol: 2R MR RA o CERE)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
AT A 1,884, 147 1,857,39 26,749
] 260,000
= 1,624,147
BHUR| A S4kg AR 1,260,860 1,090,540 170,320
s 260,000
& 1,000,860
3 A 4 AP 683,055 709,090 N26,035
s 260,000
& 423,055
Ml LSS |4 68,900 75,530 26,630
101 21| 47,800 58,730 210,930
M IRIMNZ2ENSES 47,800 58,730 210,930
OXEHOIR 47,800
202 04| 8,100 6,800 1,300
01 =WHO4HI 8,100 6,800 1,300
oMl B34 2 JI=iiY g2FA 3,000
OLTHAIE AR SRE FUHLI 3,800
O3 2AMSEAL H#0 X 1,300
207 AN 13,000 10,000 3,000
03 AlE 2| 13,000 10,000 3,000
OAl, X, Hlg, s S 13,000
A SEHSFS HAHE SAHA 2= 65,800 62,820 2,980
101 eI244| 47,800 44,820 2,980
M IRNZ2ENSES 47,800 44,820 2,980
OEFQIF 47,800
201 LEL2 A 1,200 1,200
01 AtR2telt| 1,200 1,200
OYUX=Z(EXIYRL) 1,200
202 044l 1,800 1,800
01 =WHO4HI 1,800 1,800
O SREA, B g2FA 1,800
207 AN | 15,000 15,000
03 A& 2H| 15,000 15,000
OZA, g2, s%, sl s 7¢ 15,000
NS AT ASMA L MG DY 59,800 55,400 4,400
101 @I244| 47,800 43,400 4,400
M IRMZ2ENSE> 47,800 43,400 4,400
ZEOIL 47,800
202 04| 2,000 2,000
01 =WHHHI 2,000 2,000
OLZAT ASMA HRFX 2,000
207 AN 10,000 10,000 0
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2= A AR A

| Zmes uil Sus o

22 AT B 217

LR
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
03 Al 22| 10,000 10,000 0
OAlZ, &1, Hg, =%, sk S 10,000
SHH AASHS AL 32,900 30,710 2,190
el2t| 23,900 21,710 2,190
M IIHZZ2NSES 23,900 21,710 2,190
OXFOIL 23,900
202 04| 2,000 2,000
01 =LHAbI 2,000 2,000
OANE7 g2 & SIHEE &= 2,000
207 AIHE 7,000 7,000
03 A& &2t 7,000 7,000
OHlz, 224 sk, 883 S 7,000
SHl LEER diD|s e € 22 60,655 67,130 N\6,475
101 el24d] 47,655 58,730 A11,075
M IIRZZ2NSE S 47,655 58,730 A11,075
OxEFIZ 47,655
202 04| 2,000 2,000
01 =LHAbI 2,000 2,000
OSUER MAIIE Y AR =X 2,000
207 1K Y| 11,000 8,400 2,600
03 AlEtei | 11,000 8,400 2,600
OBX, HIZ, 5%, =X S 11,000
NASS S| SHL (ATH) (2 1) 270,000 270,000 0
= 135,000
[ 135,000
101 el24d] 173,000 159,000 14,000
[ 86,500
(e 86,500
M JIZtNZ2Z2XNSES 173,000 169,000 14,000
OxEHIZ 173,000
s 86,500
= 86,500
201 get=2a| 20,000 20,000 0
[ 10,000
= 10,000
01 At2:2telt] 20,000 20,000 0
O8Iz Xz, S2/S=EHl S 20,000
= 10,000
[ 10,000
202 04| 7,000 7,000 0
s 3,500
= 3,500
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BIEL
: LS| A
TR (VR

Jn
P
o
e
4

U2 2A B O(S) - MRAE - BAS i HIDEZ
01 2LHOIHI 7,000 7,000 0
o9 RFN, dRE2 7,000
= 3,500
S 3,500
207 A=1IHE 70,000 84,000 14,000
= 35,000
[ 35,000
03 AIE 32| 70,000 84,000 14,000
oMM s 7 70,000
[ 35,000
= 35,000
KA M2 SASIIE 2 (AR 125,000 125,000 0
[ 125,000
307 @120l & 125,000 125,000 0
[ 125,000
02 2B AAHE R 125,000 125,000 0
OdtsTAgHT AIY = 125,000
= 125,000
S 2 ola NEE otEM 189,155 108,800 80,355
Y MES 54 ¥ X2 56,800 56,800 0
101 el2b] 51,200 49,000 2,200
M IRINZZ2NSES 51,200 49,000 2,200
OXHIZ 44,876
O¥dRHE= S 6,324
202 04| 800 800
01 =LHObI 800 800
O=3U0oitl 800
207 S| 4,800 7,000 A2,200
03 Alg & 2H| 4,800 7,000 12,200
O, 24AISf S 4,800
A0IEY HE 2y WS & &= He 47,700 52,000 24,300
101 el24H] 26,100 25,000 1,100
M IIHZZ2NSE S 26,100 25,000 1,100
OXFOIF 22,438
Og3d*FHE= S 3,662
207 AIHE 21,600 27,000 A5,400
03 A& &2t 21,600 27,000 A5,400
OdXt & THEHEHE = 21,600
DR A Jls R 84,655 0 84,655
101 el24d] 47,655 47,655
M IIZHZZ2NSES 47,655 47,655
(OETSgulRS 47,655
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D sg8lI=d

U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
201 &gt=2E| 2,000 2,000
01 AtR2tcIH] 2,000 2,000
OMERES, 22 S 2,000
202 O 2,000 2,000
01 2oL 2,000 2,000
oug RN 2,000
207 A=1IHE 33,000 33,000
03 AlZ & =2H| 33,000 33,000
OAleF & =X+ 16,500
OBk, HIZ, =2, sAM 16,500
AL 3g2 388,650 272,650 116,000
AL & FEAE 2E22 206,000 155,000 51,000
201 ger=2a| 166,000 155,000 11,000
01 At2tcltl 16,000 14,000 2,000
o=4 9,000
OUASTANEE 7,000
02 E5=23l 150,000 141,000 9,000
o=a 91,000
OLASHAEH 59,000
405 THats =4I 40,000 40,000
01 MMMHESFSHI 40,000 40,000
OXEE ASAtCel 7 10,000
oz 7Y 30,000
HA2S(LHFAIEE) 117,650 117,650
201 &gr=2E| 117,650 117,650
01 At22t2IH] 29,250 29,250
OFA 2|2 S 29,250
2 S22l 83,400 88,400 0
OFA & Xt R 80,000
OZeIA 2 8,400
HA2S(BA 24 L3 AH 65,000 0 65,000
401 AIZHIX L0HH| 65,000 0 65,000
01 Al2H] 65,000 0 65,000
OTA S d+=SAt 65,000
HY2EZHI(ATHAR ) 623,287 766,858 143,571
el =gl 581,609 730,134 148,525
SHHAIE & 264,039 425,928 161,889
101 el24d| 237,006 383,027 146,021
03 SRA(RIAHA) 22X E 237,006 383,027 146,021
oJl2s 159,911
Os=s 2,220,980 «6H* 122 169,911
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= sYI|=d A AHATA
M HE2LHHI(ATHATRL)
chel: ol 2g| CERE)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
o= 77,095
OFSI=Et=; 2,220,990 * 306 H +23| 7,996
O=24H| 140,000 x6 2« 128 10,080
OunE| 100,000& 6 H + 122 7,200
OZEFOHI 2,220,990 x6H +60%*23] 15,992
OsE=< 3,600
it 40,0001 =324 * 122 1,440
S YIS 60,0002 532} x 128 2,160
OAlZeI2R+E
11,7803 = 150%+6 2 x240A| 2+ 25,445
OgxtRa8F/ =<
94,1903 «6G 128 6,782
N4 AzREIS 27,033 42,901 15,868
04 SR (RIIHL)2ZX BESRHYZ2 S 27,033 10,343 16,690
ONEBEEZRES = 27,033
O3 RE3 10,666
O3UHLEEZ 9,4%
OnsE!seg3 6,873
BHFAIEHR 317,570 304,206 13,364
101 eI t| 285,582 273,539 12,043
03 SRH(RIHS) 22X E = 285,582 273,539 12,043
OJ 23 (AIgARA) 188,594
O=s 2,245,160 7B+ 128 188,594
o= 96,988
(OFSI=tod = 188,593,440 *1/12+50%+*23| 15,717
O=24ldl 140,000 7B+ 12& 11,760
Oun &l 100,000&x7H +12& 8,400
O™EEIH| 188,508, 44021 %1/12+1..2 18,860
OAlRIIRR4Y
12,7853 x150%+7 B +20Al 2t+ 1200 = 32,219
Otz asits=e
102,280 7B 12 8,592
OJEE 1,440
i B 40,0003 *2Z 128 960
“F2AE 20,0003 =2F 123 480
N4 HASREIS 31,988 30,667 1,321
M SRE(RIAHS)2ZLN BEE2R2E2 S 31,988 7,3% 24,594
o8z RBEH3S 31,988
OL=E == 12,852
OI0IHLEEZ 11,424
OME=Ih=-I=aee ==, 5,141
O THEE S RE= 2,571
JlE23&H| 41,678 36,724 4,954
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2=

D HAERHAYI(MIHARL)

E;II Jl=2Z (S ®SA)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t

SFM2E J|2Z& | 27,758 29,644 A1,886

201 LEr2AH| 13,113 15,879 N2, 766

01 AtR2eltl 12,513 15,327 A2,814
ORNZZ AtR2elt| 12,513
(Of=F~ 9,000
OLEASHAIEE 3,513

02 SE=29H| 600 552 48
ORNE2ZE s=2=2 600

202 04| 8,645 8,645
01 =WHO4HI 8,645 8,645

FH2Z UL 8,645

203 R F&| 6,000 5,120 880

02 HRIMHH S FEIH| 1,200 920 280
OFAIZ 40,0002 *30H 1,200

M EAN2IHRFAL] 4,800 4,200 600
©2521 0|5t 400,000 x 10 L+ 122 4,800

gy 23 13,920 7,080 6,840

201 B2 3AH| 13,920 7,080 6,840

01 AtR2eltl 13,920 7,080 6,840
0og - =& ¢ 13,920
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